
 

cg';"rL–% 
j8fj6f ;+rfng ul/g] of]hgfx? 

 
j8f g+= @, v'+u|L, /f]Nkf 

1. cfly{s ljsf; 

qm ;+ cfof]hgf÷sfo{qmdsf] gfd cfof]hgf ;+rfng x'g] :yfg ljlgof]lht /sd 

1 rt'e'{h wd{zfnf lgdf{0f of]hgf  j8f g+= @ 150,000 

2 pGgt hftsf afv|f tyf af]sf vl/b  j8f g+= @ 100,000 

3 aFfb/ Joj:yfkg  j8f g+= @ 100,000 

4 kmnkm'n lj?jf  j8f g+= @ 50,000 

5 rt'{e'h dlxnf ;xsf/L Joj:yfkg   j8f g+= @ 60,000 

6 luå ;+/If0f sfo{qmd  j8f g+= @ 100,000 

hDdf 560,000 

 

2. ;fdflhs ljsf; 

qm ;+ cfof]hgf÷sfo{qmdsf] gfd cfof]hgf ;+rfng x'g] :yfg ljlgof]lht /sd 

1 Hof]tL k|sfz df= lj kvf{n lgdf{0f of]hgf  j8f g+= @ 200,000 

2 1fgf]bo cf= lj 3]/fjf/ of]hgf  j8f g+= @ 100,000 

3 ljkGg 5fq 5fqf z}lIfs ;fdfu|L ljt/0f sfo{qmd  j8f g+= @ 100,000 

4 ;/:jtL k|f= lj 3]/fjf/ of]hgf  j8f g+= @ 150,000 

5 v+u|L :jf:Yorf}sL :jf:Yo ;DaGwL sfo{qmd  j8f g+= @ 350,000 

6 rt'{e'h k|f= lj= dd{t of]hgf  j8f g+= @ 50,000 

7 lqk'/]Zj/L df= lj= kvf{n lgdf{0f of]hgf  j8f g+= @ 200,000 

hDdf 1,150,000 

 

3. k"jf{wf/ ljsf; 

qm ;+ cfof]hgf÷sfo{qmdsf] gfd cfof]hgf ;+rfng x'g] :yfg  ljlgof]lht /sd  

1 
v'+u|L uf]ugkfgL vnl;+u ;fTbf]jf6f] df]= af= lgdf{0f 
of]hgf  j8f g+= @ 500,000 

2 b]pv'/L vf]nf uf]ugkfgL df]= jf lgdf{0f of]hgf  j8f g+= @ 200,000 

3 df= lj xl/ufpF cu/f ju/ df]= af= lgdf{0f of]hgf  j8f g+= @ 400,000 

4 
v'u|Lsf ;xfos df]= af6fx? u|fj]n tyf gfnf 
lgdf{0f of]hgf  j8f g+= @ 800,000 

5 lkkn6f/ dfl8vf]nf hf]8\g] df]= af= lgdf{0f of]hgf  j8f g+= @ 300,000 

6 kfjª wgfrf}/ s[ifL ;8s of]hgf  j8f g+= @ 100,000 



 

7 /fdHof]tL k|f= lj vf= kf dd{t tyf 3]/fjf/ of]hgf  j8f g+= @ 100,000 

8 k]lb vf]nf kfOk vl/b of]hgf  j8f g+= @ 50,000 

9 
v'+u|Lsf]6 b/af/ x'b} kf6]eL/ h8\g] df]= af lgdf{0f 
of]hgf  j8f g+= @ 200,000 

10 a[åf cf>d ejg lgdf{0f of]hgf  j8f g+= @ 100,000 

11 z[hgzLn ;fd'bflos zf}rfno lgdf{0f of]hgf  j8f g+= @ 150,000 

12 v+'u|L sNn]/L vf]nf vf= kf dd{t of]hgf  j8f g+= @ 200,000 

13 vnl;+u] vf= kf dd{t of]hgf  j8f g+= @ 100,000 

14 lxn] vf= kf dd{t of]hgf  j8f g+= @ 100,000 

15 dfl8rf}/ vf= kf dd{t of]hgf  j8f g+= @ 100,000 

16 l5l5/] l;+rfO{ kf]v/L lgdf{0f of]hgf  j8f g+= @ 200,000 

17 emfqmL vf]nf wgfrf}/ l;+rfO{ s'nf] dd{t of]hgf  j8f g+= @ 150,000 

18 nfldju/ l;+rfO{ s'nf] dd{t of]hgf  j8f g+= @ 200,000 

19 lz/fg6f]n df]= af :t/ pGgtL of]hgf  j8f g+= @ 50,000 

20 x[boZj/L cf= lj ejg lgdf{0f of]hgf  j8f g+= @ 200,000 

21 Rofgwf/f :jf:Yo OsfO{ zf}rfno lgdf{0f of]hgf  j8f g+= @ 150,000 

22 k"0f{ ;/;kmfO{ sfo{qmd  j8f g+= @ 100,000 

23 ;]/f vf= kf dd{t tyf kfO{k vl/b of]hgf  j8f g+= @ 100,000 

24 Dlxnf ;fd'bflos ejg lgdf{0f of]hgf lxn]   j8f g+= @ 200,000 

25 Rofgwf/f df]= af= lgdf{0f of]hgf  j8f g+= @ 100,000 

26 
:ofgLrf}/ b]lv df8Lrf}/ emf]= k' hf]8\g] df] af 
lgdf{0f of]hgf  j8f g+= @ 200,000 

27 uf]ugkfgL vf kf dd{t tyf cfsfz] 3}6f] sfo{qmd  j8f g+= @ 200,000 

28 
u}/]6f]n l;+rfO{ kf]v/L 3]/f jf/ tyf rf}tf/L lgdf{0f 
of]hgf  j8f g+= @ 50,000 

29 lhd|L kf]v/L tf/j/ tyf kfO{k vl/b of]hgf  j8f g+= @ 130,000 

hDdf 5,430,000 

 
4. jftfj/0f tyf ljkb Joj:yfkg 

qm ;+ cfof]hgf÷sfo{qmdsf] gfd cfof]hgf ;+rfng x'g] :yfg  ljlgof]lht /sd  

s'g} sfo{qmd g/x]sf] 

 

  



 

5. ;+:yfut ljsf;  ;]jf k|efx / ;'zf;g 

qm ;+ cfof]hgf÷sfo{qmdsf] gfd cfof]hgf ;+rfng x'g] :yfg ljlgof]lht /sd 

1 ;fj{hlgs ;'g'jfO{ sfo{qmd  j8f g+= @ 60,000 

2 j8f sfof{no Joj:yfkg  j8f g+= @ 200,000 

3 j8f sfof{no kvf{n lgdf{0f of]hgf  j8f g+= @ 400,000 

4 ;'zf;g tyf ;]fj k|jfx ;DaGwL tflnd  j8f g+= @ 100,000 

5 cjnf]s0f e|d0f  j8f g+= @ 100,000 

hDdf 860,000 

;a} hDdf j8f g+ @ 8,000,000 

 




